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E–3014 

B. Com. (Part I) EXAMINATION, 2021 

(Old Course) 

(Group—I : Accounting) 

Paper Second 

BUSINESS MATHEMATICS 

Time : Three Hours ]  [ Maximum Marks : 75 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 

vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- ¼v½ vodyt Kkr dhft, % 

3 24 5 6x x x   

Find the derivative : 

3 24 5 6x x x  
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¼c½ fuEufyf[kr ds mfPp”B ,oa fufEu”B eku Kkr dhft, % 

210.5 672 205y x x   

Find out the maxima and minima of the following : 

210.5 672 205y x x  

vFkok 

(Or) 

y?kqx.kd lkfj.kh }kjk fuEufyf[kr dk eku Kkr dhft, % 

3 3

4

4.6 (.0726) .8342

(.07241) .6273
 

Find the value of the following applying logarithms : 

3 3

4

4.6 (.0726) .8342

(.07241) .6273
 

bdkbZ&2 

(UNIT—2) 

2- ;fn % 

1 2 3
A

4 5 6
 

vkSj                 

7 10

B 8 11

9 12

 

gks rks AB vkSj BA ds ewY; Kkr dhft,A   
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If : 

1 2 3
A

4 5 6
 

and                            

7 10

B 8 11

9 12

 

find the values of AB and BA. 

vFkok 

(Or) 

fl) dhft, % 

3 3 33

b c a b a

c a b c b abc a b c

a b c a c

. 

Prove that : 

3 3 33

b c a b a

c a b c b abc a b c

a b c a c

. 

bdkbZ&3 

(UNIT—3) 

3- fuEufyf[kr js[kh; izØeu leL;k dks xzkQ dh fof/k ls gy dhft, % 

vf/kdre dhft, % 

3 5z x y  
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tcfd % 

  2 20x y    

    15x y  

         6y  

0, 0x y .  

Solve the following Linear Programming Problem by 

graphical method : 

Maximize : 

3 5z x y
 

such that : 

  2 20x y  

    15x y  

         6y  

0, 0x y .   

 

vFkok 

(Or) 

,d crZu esa nw/k vkSj ikuh dk vuqikr 3 % 5 gS vkSj ,d nwljs crZu esa 

6 % 1 gSA nksuksa crZuksa ds feJ.kksa dks fdl vuqikr esa feyk;k tkuk 

pkfg, ftlls nw/k vkSj ikuh dk vuqikr 7 % 3 gks tk;s \  

In one pot, the ratio of milk and water is 3 : 5 and in another, 

it is 6 : 1. In what ratio should the contents of the two pots be 

mixed so as to make the ratio between milk and water 7 : 3 ? 
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bdkbZ&4 

(UNIT—4) 

4- 5% okf”kZd ls 432-50 dk 6 o”kks± ds fy, pØòf) C;kt dh x.kuk 

dhft,A ;fn C;kt dh x.kuk v)Zokf”kZd dh tkrh gS rks D;k vUrj 

iM+sxk \ 

Calculate compound interest on ` 432.50 for 6 years at 5% 

per annum. If interest is calculate half-yearly, what be the 

difference ? 

vFkok 

(Or) 

¼v½ okf”kZdh fdls dgrs gSa \ blds izdkj crkb;sA  

What is Annuity ? Explain various types of annuity. 

¼c½ ,d dEiuh ` 4,00,000 dh lEifŸk dks 18 o”kZ ds ckn 

izfrLFkkfir djus gsrq ,d ‘kks/ku ¼vFkok kl½ fuf/k cukus dk 

fopkj djrh gSA ;fn C;kt nj 8% gks rks bl gsrq izfro”kZ ds 

ykHkksa esa ls jksdh x;h jkf’k Kkr dhft,A   

 A company intends to create a sinking (or 

depreciations) fund to replace at the end of 18 years 

assets ` 4,00,000. Calculate the amount to be retained 

out of profits every year if the interest rate is 8%.  
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bdkbZ&5 

(UNIT—5) 

5- ¼v½ fdlh dkfuZoky esa 10 vkSjrksa us fuEu izdkj lsc [kk;s % 

vkSjrksa dh la[;k lscksa dh la[;k 

1 3 

2 4 

3 5 

4 8 

[kk, x, lscksa dk vkSlr Kkr dhft,A  

In a Carniwal 10 ladies ate apples as follows : 

No. of  Ladies  No. of  Apples 

1 3 

2 4 

3 5 

4 8 

Find the average of apples ate.  

¼c½ fdlh ijh{kk esa 70% ijh{kkFkhZ O;kolkf;d xf.kr esa rFkk 65% 

foŸkh; ys[kkadu eas mŸkh.kZ gq,] tcfd 15% nksuksa fo”k;ksa eas 

vuqŸkh.kZ gSaA ;fn 2700 ijh{kkFkhZ nksuksa fo”k;ksa esa mŸkh.kZ gq, rks 

ijh{kkfFkZ;ksa dh la[;k Kkr dhft,A  
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In an examination 70% examines passed in Business 

Mathematics and 65% in Financial Accounting while 

15% failed in both the subjects. If 2700 examinees 

passed in both the subjects, find the total number of 

examinees.  

vFkok 

(Or) 

¼v½ ;fn lEifŸk rhu ckj fcdh vkSj izR;sd nyky ftlus bldh 

fcØh dh 1% nykyh ysrk gSA ;fn izR;sd ckj lEifŸk dh fcØh 

mrus /ku ij gqbZ ftruk iwoZ fcØh ls izkIr gqvk rks izkjafHkd 

foØ; ewY; crkb;s tcfd rhljh ckj dh fcØh ls ` 1,00,000 

‘kq) feykA 

A property changed hands three times. Each broker 

who sold it charged 1% as brokerage. If each time it 

was sold for the net amount obtained at the previous 

sale, calculate its original sale value, if the third sale 

realised ` 1,00,000 net.   

¼c½ eqjyh/kj lkeku [kjhnus rFkk cspus ls >wBs ckVksa dk iz;ksx djds 

20% Bxrk gSA crkb;s og csbZekuh }kjk fdrus izfr’kr Bxrk 

gS \ 

Murlidhar cheats 20% each time by using faulty 

weights in purchase and sale of goods. Find how much 

percent he earns by this way.  
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